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piece 1, NC 000913, araB_araC+, config: linear, direction: +, begin: 70019, end: 70406

__*70020 * *70030 * *70040 * *70050 * *70060 * *70070 * *70080 * *70090 *
5’gccaaaatcgaggccaattgcaatcgccatcgtttcactccatccaaaaaaacgggtatggagaaacagtagagagttgch‘
- ala-lys-ile-glu-ala- asn - cys - asn - arg - his - arg - phe - thr - pro - ser - lys - lys - thr - gly - met - glu - lys - gln - @
- pro - lys - ser - arg - pro - ile- ala-ile- ala-ile- val - ser - leu- his - pro- lys - |lys - arg - val - trp - arg - asn - ser - arg - glu- Ieu- arg -
- gln- asn- arg - gly - gln - leu - gln - ser - pro - ser - phe - his - ser - ile- gln- lys - asn- gly - tyr - gly - glu - thr - val - glu - ser - cys - asp -
---------------------------------------------------------- ] NC_000913. araB
*70100 *70110 * *70120 * *70130 * *70140 * *70150 * *70160 * *70170 * *70180

5’ataaaaagcgtcag faggafccgctaatcftafggataaaaatgctafggcafagcaaagt i acgccgf Ccaaataatsa3
® - -fMat - Ieu-trp- hIS- ser - lys - val - g
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{------------- } sd(7)-|r 70142 Gap 3.7 bits
oo e o 42 araB_araC+ total 6.8 bits
--------------- sd-(12)-ir 70147 Gap 4.0 bits

sd-ir 70147 araB araC+ total 9.5 bits
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p35 3.5 bits p35 2.0 bits

------- } p35-(22)-pl0 70176 Gap 2.3 bits
........................................... | p35-pl0 70176 total 4.2 bits

*70190 * *70200 * *70210 * *70220 * *70230 * *70240 * *70250 * *70260

’caafgf gactfftcfgccgf affafagacacftffgffacgc ftfft gtcatggctttggfcccogctfttottacagaas
- -ser-trp-Ieu-trp-ser-arg-phe-val-thr-glu-
-asn-val -asp-phe-ser-ala-
__-_LN\bt\- trop - thr - _phe - le -fMet - leu - arg - val - phe - val eu - val - pro - leu - cys - tyr—-_ara - nmet -
s, sd ir araB_araC+ p35 3.2 bits (GO
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---------------------- sd-(12)-ir 70200 Gap 4.0 bits ----------} p35-(22)-pl0 70258 Gap 2.3 bits
sd-ir 70200 araB_araC+ total 6.5 bits e | p35-pl0 70258 total 4.6 bits

(O #p10 1.8 bits

p35 4.4 bits

---------------- } p35-(23)-pl0 70210 Gap 1.4 bits
--------------------------------------------- | p35-pl0 70210 total 4.7 bits

* *70270 * *70280 * *70290 * *70300 * *70310 * *70320 * *70330 * *70340
S’Tgcftff.aaf.aagcggggftaccggtfgggftagcgagaagagccagfaaaagacgcagfgacggcaafgtcfgafgcaa'i-?
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sd-(9)-ir 70329 Gap 2.3 bits
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*70350 * *70360 * *70370 * *70380 * *70390 * *70400 *
Tacaattgortttctt tcfgaatggtgg gagtart aaaagtafggctgaagcgcaaaatgaB’
- asp - asn - trp - phe - Ieu - leu - -fMet - val gy - val - - - - - - - -fMat.-
gy - gln- leu- val - ser - ser -’I_eu_-_ain - - alv_- ser -
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sd-(13)-ir 70387 Gap 4.6 bits
sd-ir 70387 araB_araC+ total

5.5 bits
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----- } p35- (21)-pl0 70400 Gap 3.3 bits

4.8 bits
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